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And according to Bais Shammai, even if it does not do an action

Overview

The x13 concluded that according to "2 there is 2°92 NnN°aw even if the 0°%5 are not
actively doing a 7oX%n; they are merely passive, but the 79%%7 is done through them.
mooIn reviews the laws of the 71wn according to this conclusion.
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Now that the reason of @''2 is because of 2°%2 nnoaw -
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The first three cases of the 71wn; namely 193%%201 137 19 1R, and PR, and MTIXH,

all these three cases are prohibited because of 2°92 nnoaw -
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For the work is done within the ¥93, so it turns out that the *»> does the work -
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However the cases forbidding selling to a 321 or giving hide to a tanner, or clothes

to a launderer, those prohibitions are not because of 2995 nn°aw; nwon explains how

can we even think that this involves 0°25 nn»aw, and then negates it -
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For the fact that the hide is being cured, we cannot consider that 0°93 nn°aw, since
the hide is not doing the work, but rather the person who is curing the hide he

is doing the work -
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And similarly a garment which is whitened (cleaned), the garment is not doing

the work, rather the person who is cleaning it does the work, so 0°>3 nn"aw cannot

apply to these latter cases -
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! This m2o1n is referencing the X3 on the 'R Ty.
2 w"a prohibits doing these three types of activity on ¥"v unless they are completed before naw. They are; 1. Soaking
materials for ink, etc.. 2. Placing flax into the oven, 3. Placing traps.
31t is forbidden because of 0’72 nn>aw even though the 073 are passive they ae not doing anything, nevertheless since
they are required for this work to be accomplished and the work is done within the *93, it is considered as if the 0*%>
are doing the 719871, See ‘Thinking it over’ # 2.
4 One might think that since 2°73 nn*aw is applicable even when the 73 is passive, so 2’73 NN*aw can apply to the other
cases of the m1wn as well (such as 7727 m7W), where the hide of the Y% " is participating (passively) in a 79877.
3 There is a difference between doing work passively (which is considered 0> nn»aw), and being worked on passively
(which cannot be considered 0°22 nnvaw).
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Rather the reason w'"2 prohibit these activities is because the *721 who is doing

the work can be confused with his agent® -
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And therefore we also understand why by nsaex 9232 it is permitted, as the X773

will shortly establish, in a case where the n°7921 921 are placed on the ground,

not in a vessel, and we are not concerned for 2°72 nn*aw -
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Even though that the 259> which are above the 12311 or the n°193 are being treated
with sulfur or colored by the “mxn, nevertheless 2%%> nnvaw does not apply to

them, as I explained -
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That there is no 2v%> nn°aw by a %> where the work is not done by the 3.

Summary
0°%2 nn»aw is relevant only to the 2°75 which perform the task (albeit passively), but

not to the 2°22 on which the task is being performed.

Thinking it over

1. Why does mooin single out n>193) Tn3n, that there is no 2°22 nn*aw by them, we
could know it ourselves from the fact that there is no 2°22 nn*aw by 772v% MMy, which
Moo mentioned already?

2. Is the emphasis that 295 nnaw is only if the 75877 is done inside the *%3,'° or that
the 770897 is done by the 52?1

3. Why indeed is 2> nnaw not applicable by a 12 n°wyi1 7aR?17 PRY 90?12

¢ One may not appoint a 721 as his agent to do work for him on naw (this is referred to as maw 0"12¥% 77"aK), similarly
here (even though the X did not tell the »721 to do the work on naw, nevertheless) when one sees the ™21 working
on behalf of the 9% he may mistakenly assume that this *721 is the 9w of the YR, which is forbidden.
" The following is understood since we made the distinction noted in footnote # 3.
8 See footnote # 5.
 The 0°1v%v7 '3 that are o°ya¥1 o wann are not doing the work, rather the work is being done to them, therefore
0°25 nnvaw does not apply to them.
10'See footnote # 3.
' Think (>ppY) n>.
12 See w"x17 nvoN.
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